5 - REVISION HISTORY
/. %f ToP g \ REV DESCRIPTION DATE | BY
TOP L / s TOP N E |REDRAWN IN SOLID EDGE 6/29/15 | JCD
m 1] A FLUSH HANGER BRACKET 1/4-20 NUT
/. L e -1 3000 A\\\\ |~ UPPER (OPTION MUST BE ORDERED . #157505
. ' U MINIMUM [ T LEDGE \ SEPARATELY) #52195 Sy - ° o
m b TOP OVERHANG — , 1/4-20 MACHINE SCREW " oo
, U =+ 3.000 ' f #153031
' MINIMUM TOP 2438 |l / SLATWALL STANDARD HANGER =
, 0
OVERHANG | renip) “” FRAME BRACKET #26740 g
' ‘O / ]
0
SLATWALL \\ , I
/— SLATWALL FRAME I H
FRAME 1/4-20 NUT 1/4-20 MACHINE SCREW T
, #157505  FLUSH HANGER ~ #153031 I
' BRACKET DETAIL I
SLATWALL 0
. FRAME l
o
0
— . \ I E
il ‘ A \ : \\
CABWET\ // / \\ Standard Hanger Bracket Installation Instructions |
CABINET \ Y / (Use when there is a 3" or more top overhang) VELCRO®
3 e
/Z o Step 1: Attach VELCRO® to slatwall frame somewhere near the frame bottom.
i | T 3.000 = \ (Do not peel paper on the cabinet side of the VELCRO®.)
MINIMUM Step 2: Clip bracket under top rail of the frame approximately
TOP OVERHANG ) two fo six inches (2-6" from each end.
VELCRO® 3'009 N_ SPECIAL HANGER BRACKET Step 3: Remove the VELCRO® paper from the cabinet side.
| Then set brackets and frame on upper counter ledge.
(OPTION MUST BE ORDERED Brack 5 tioned s th b
SEPARATELY) #42495 rackets may be positioned to miss the counter joints.
VELCRO® d v Step 4: Attach the brackets to the top with #10 sheet-metal screws.
(2500) SLATWALL ~ Flush Hanger Bracket Installation Instructions
. REFERENCE FRAME (Use when there is less than a 3" top overhang.
BERE B ,.0@_ i The brackets and slatwall frame need to be installed
—_ o —{ N \ / . before attaching the tops to the cabinets.)
h - Step 1: Set brackets two to six inches (2-6”) from each end of
SECURITY ENCLOSURE slatwall frame and 2.438 (2-7/16") down from upper ledge.
S~ BASE ~ DETAIL Brackets may be positioned to miss the counter joints.
i BASE Step 2: Drill six .312 (5/16”) diameter holes.
i Step 3: Screw brackets to cabinet using six 74-20 machine screws and nuts.
) T 1 Step 4: Slide top rail of slatwall frame over flush hanger clips.
Ll L
These designs are REFY 86077 ROYSTONLLC
- vexrster ONE PICKROY ROAD
PO cpery S| SMROYSTON™  so=oras
.orI\eR)’oSYI‘ISaTPn":J:-Il;eC Tolerance Unless PART DESCRIPTION
ADA HEIGHT STANDARD HEIGHT ) icatedin| OherwiseNoted | |SHT FR SW,CM
SECTION SECTION any manner without | 20+ 0o s ey [oRE ATy
prior written consent. ﬁglg;esi;i::_ 003 SB SB | 10/05/00 30690 E
U:\jasspt\JAS\RELEASED\3\30690.dft PRINTED 7/1/2015 SHEET 1 OF 1




